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Ⅰ 　次の英文を読んで設問に答えよ。

　Is  Neptune at the end of the solar system? No. On 18 February  1930 a young 

American  astronomer, Clive  Tombaugh, discovered another small planet, 1,400 million 

kilometers beyond Neptune. He called it ‘Planet X’,  and now we call it Pluto.

　But  in 2006 scientists decided that Pluto is not a planet at all. Why  not? It  is too 

small, they say ‒ much smaller than our Moon.（ １ ）, Pluto has a moon half as big 

as itself. And beyond Pluto there are other rocks  too, and comets.

　Comets are balls of dust and ice which ⑵away /  from /  in /  come /  far space. Some 

come from a part of space called the Kuiper  Belt, which is a very,  very  long way from 

the Earth  ‒ 6,000 million kilometers away. When  was traveling through the 

Kuiper  Belt, it took a photograph of the Earth  millions of miles behind it. This  famous 

photograph is called the Pale Blue Dot. In  this photograph the Earth,  our home, is

（ ３ ）small that it is almost impossible to see. That  is what the Earth  looks like 

from the edge of the solar system.

　⑷Comets are smaller than planets, and they move differently  too. Some comets 

spend a lot of time in the Kuiper  Belt, but from time to time, they fall in towards the 

Sun. When they come near the Earth,  we can see them in the night sky.  Often they 

have long white tails. This  happens when the sun’s light meets the dust and gas coming 

off the comet. After  they pass near the Sun, the comets fly away. Some come back a 

few years  later, but others do not return  for hundreds or even thousands of years.

　Some comets are small, but others are very  big indeed. In  1986, photos from the 

European spacecraft  showed that Halley’s comet is 16 kilometers across ‒ a huge 

ball of dust and ice bigger than most cities.

　Most comets go past the Earth,  around the Sun, and then fly  back home to the 

Kuiper  Belt. But  not always. Sometimes they get too near a planet, and crash into it, 

like the Shoemaker-Levy  comet which hit Jupiter in 1994. When this happened, huge 

全員必答　Ⅰ ～ Ⅲ は必ず解答すること。
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著作権法上の問題から公表することが
出来ませんのでご了承願います。
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balls of fire were seen above the surface of the planet.

　On rocky  planet comets leave big craters.  This  has happened to all planets, billions of 

times. Many of the craters  on the Moon and Mars  were（ ５ ）comets. In the night 

sky  from time to time you may see a ‘shooting star’. This  line of light in the sky  is made 

by a meteor ‒ a piece of dust or rock, often from the tail of a comet, that enters the 

Earth’s  atmosphere at high speed and burns up. A  meteorite is a meteor that survives  

long enough to reach the Earth’s  surface. Meteorites can leave big craters  on the 

Earth,  like the giant Meteor Crater  in Arizona,  which is over one kilometer wide and 

180 meters deep. Scientists think a huge meteorite crashed into the Earth  there, 50,000 

years  ago.

　Sometimes good things come from these big crashes. Most comets are made of ice, 

and some scientists think that（ ６ ）there is so much water on the earth. Over  

billions of years,  they say, hundreds of millions of icy comets crashed into the Earth.  

When the ice in these comets melted, it made some of the water in the Earth’s  rivers  

and seas.

　Some scientists think that comets did another thing too. It  is possible, they say, that 

there is life inside the icy comets. Not animals or people, of course ‒ but very  small, 

living bacteria. If  ⑺that is true, they say, then perhaps life came to the Earth  from a 

comet.（ ８ ）

　Not all scientists  agree with this, but it is an interesting idea. In  the future, 

astronomers hope to send spacecraft to land on some comets, to look at their ice and 

rocks. Then  we will know more.

　問１　空所（　１　）に入れるのに最も適当なものはどれか。 1

①　Therefore

②　In fact

③　Sometimes

④　Consequently

この部分に記載されている文章については、
著作権法上の問題から公表することが
出来ませんのでご了承願います。
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　問２�　下線部⑵を意味が通るように並べ替えたとき，２番目と４番目に来る組合せはど

れか。 2

①　２番目： in		 ４番目： far

②　２番目： far	 ４番目： from

③　２番目： from	 ４番目： away

④　２番目： away	 ４番目： in

　問３　空所（　３　）に入れるのに最も適当なものはどれか。 3

①　such

②　very

③　too

④　so

　問４　下線部⑷について本文の内容に合うものはどれか。 4

①　Some comets are smaller than planets, but others are much bigger.

②�　Some comets stay in the Kuiper Belt for a long time, but sometimes, they 

fall in towards the Sun.

③�　Most comets go past the Earth, around the Sun, and then always fly back 

to the Kuiper Belt.

④�　Comets have hardly left big craters on all rocky planets over billions of 

years.

　問５　空所（　５　）に入れるのに最も適当なものはどれか。 5

①　made from

②　created in

③　made by

④　consisted of
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　問６　空所（　６　）に入れるのに最も適当なものはどれか。 6

①　that is why

②　this is because

③　it is true

④　it is impossible

　問７　下線部⑺が示す内容として最も適当なものはどれか。 7

①　comets did another thing

②　there is life inside the icy comets

③　not animals or people but very small, living bacteria

④　life came to the Earth from a comet

　問８�　空所（　８　）に入れる３つの文が順不同で下のA ～ Cに示されている。論理的

な文章にするのに最も適当な配列はどれか。 8

　　　　A  Its ice melted.

　　　　B  The bacteria began to grow in this new home.

　　　　C  A comet crashed into the Earth.

①　A → B → C

②　C → B → A

③　C → A → B

④　B → C → A
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Ⅱ 　次の各問い（問１～問10）の空所を補うのに最も適当なものを、それぞれ下の

　　 ① ～ ④ から１つずつ選べ。

　問１　 9  to find an empty seat, John had to keep standing all the way.

	 ①　Fail	 ②　Unable	 ③　Easy	 ④　Not only

　問２　Mr. Taylor 10  it a rule to jog in the park in front of his office every morning.

	 ①　makes	 ②　takes	 ③　gets	 ④　sets

　問３　My aunt lived in a very big house, but there 11  furniture in it.

	 ①　were too many	 ②　was a few

	 ③　were a lot	 ④　was little

　問４　 12  it be true that she bought that expensive coat?

	 ①　Will	 ②　May	 ③　Can	 ④　Shall

　問５　There were 124 votes 13  the plan and 78 against it.

	 ①　on	 ②　for	 ③　in	 ④　over

　問６　The president of the company is very anxious 14  his image.

	 ①　to improve	 ②　improving	 ③　improved	 ④　improvement

　問７　My father’s illness prevented 15  attending the lecture.

	 ①　me into	 ②　I am	 ③　me from	 ④　my being

　問８　Jeff doesn’t go fishing so often, but I know he 16  a lot.

	 ①　was	 ②　used to	 ③　would have	 ④　doing
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　問９�　I forgot 17  the map of the town, so I couldn’t find the museum I wanted 

to visit.

	 ①　taking	 ②　to be taken	 ③　to take	 ④　having taken

　問10　You should take 18  of this good chance to talk to Dr. Lopez.

	 ①　advertisement	 ②　advance

	 ③　advice	 ④　advantage
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Ⅲ �　次の各問い（問１～問５）において、それぞれ下の ① ～ ⑤ の語句を並べ替えて

空所を補い、文を完成させよ。ただし、解答は 19  ～ 28  に入れるものの

番号のみを答えよ。

　問１　私にはドナルドのような男性と上手く付き合っていくことはできない。

　　　　I can’t 　　　　 19  　　　　 20  　　　　 like Donald.

	 ①　a	 ②　with	 ③　along	 ④　man	 ⑤　get

　問２　私たちはスペイン語の能力のある人を求めている。

　　　　We need 　　　　 21  　　　　 22  　　　　  Spanish.

	 ①　of	 ②　a good	 ③　someone	 ④　command	 ⑤　with

　問３　ナオミは父親にいつ到着するのか手紙で知らせた。

　　　　Naomi’s 　　　　 23  　　　　 24  　　　　 she would arrive.

	 ①　when	 ②　letter	 ③　her	 ④　informed 	 ⑤　father

　問４　このスマートフォンを修理するには１万円以上かかるだろう。

　　　　It’ll 　　　　 25  　　　　 26  　　　　 to have this smartphone fixed.

	 ①　more than	 ②　for	 ③　ten thousand yen

	 ④　you	 ⑤　cost

　問５　母は自分の冗談がどんなに面白いのか気付かなかった。

　　　　My mother 　　　　 27  　　　　 28  　　　　 jokes were.

	 ①　humorous	 ②　didn’t	 ③　her	 ④　how	 ⑤　realize
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Ⅳ �　次の対話文の
 
29  ～ 34

 
に入れるのに最も適当なものを、それぞれ下の

① ～ ④ から１つずつ選べ。

　問１　Ａ:　Is your older brother coming home during the spring holidays?

　　　　Ｂ:　Yes, he is.

　　　　Ａ:　I don’t think I have met him before. 29

　　　　Ｂ:　Unlike me, he is very friendly and outgoing.

①　Does he like you?

②　What does he look like?

③　What’s he like?

④　How is he like?

　問２　Ａ:　Thank you very much for inviting me to your home party tomorrow.

　　　　　　� 30  But I have to take care of my sisters because my parents are 

going out on that day.

　　　　Ｂ:　Oh, I’m sorry to hear that. Maybe next time.

　　　　Ａ:　Yes, I will.

①　I’m looking forward to seeing your family.

②　I wish I could be there.

③　I hope that you’ll like it.

④　What time shall I come there?

※教養学部・看護学部志願者のみ解答すること。



― 9―― 8―

　問３　Ａ:　Excuse me. Do you know how to get to the nearest station?

　　　　Ｂ:　Actually, I’m heading there now, so 31

　　　　Ａ:　That’s very kind of you.

①　you’ll see it on your right.

②　I’d like to be here with you.

③　I’m sorry I don’t know.

④　you can follow me if you like.

　問４　Ａ:　I have to get something for my daughter. It’s her birthday next Friday.

　　　　Ｂ:　How old will she become?

　　　　Ａ:　Well, seventeen.

　　　　Ｂ:　 32

①　How about a new watch?

②　You should have given her a nice bike.

③　You didn’t have to get anything.

④　Would you like something to read?

　問５　Ａ:　 33  Can I borrow a pencil?

　　　　Ｂ:　Well, I don’t have one. But, I have a ball-point pen.

　　　　Ａ:　Oh, it’s OK. Thank you.

①　I don’t have anything to write with.

②　I have nothing to write on.

③　I don’t need to write anything.

④　I need something to write.



― 10 ―

　問６　Ａ:　Did Tom remember to go shopping at a supermarket?

　　　　Ｂ:　 34  The refrigerator is filled with food.

　　　　Ａ:　That’s good.

①　He shouldn’t.

②　He couldn’t.

③　He must have.

④　He didn’t have.
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Ⅴ 　次の英文とグラフを読んで設問に答えよ。

　Immigration became a heated subject of debate during the European Parliament 

elections in May  2014. Economists are now asking whether anti-immigrant sentiment 

can（ １ ）fiscal, as well as social, factors.

　Though OECD  work  suggests that immigrants are ⑵a net benefit to their host 

countries, overall, OECD  member countries became slightly less tolerant of immigrants 

during the 2007-12 recession,（ ３ ）sharp declines experienced in countries hardest 

hit by the downturn.

　Take  Greece. Prior  to the crisis,  approximately 67% of Greeks  believed that their 

local community was a good place to live for immigrants. By  2012, this figure dropped 

by a staggering 26 percentage points. In Mexico, a 68% positive perception of tolerance 

dropped by 15 percentage points. But  in Slovenia and Austria  tolerance levels boomed, 

despite ⑷fiscal woes. Also  notable, the UK  experienced a small 2 percentage point 

increase in tolerance, despite growing political tensions over the role of the EU  in 

regulating migration flows.

　Across  emerging economies, variation among tolerance levels was more pronounced.

（ ５ ）India, Russia  and South Africa  all experienced marked declines, China 

recorded the largest positive shift among all 41 OECD  and non-member countries 

surveyed, with an increase of 16.5 percentage points in the number of Chinese citizens

（ ６ ）believed that their community was a good place for immigrants to settle 

down.

※薬学部志願者のみ解答すること。

この部分に記載されている文章については、
著作権法上の問題から公表することが
出来ませんのでご了承願います。
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　問１ 　表の（ア），（イ），（ウ），（エ）に対応するものの組合せが、その順に示されてい

る。最も適当な配列はどれか。 35

①　China ― Russia  ― UK  ― Mexico

②　Mexico ― UK  ― Russia  ― China

③　China ― UK  ― Russia  ― Mexico

④　Mexico ― Russia  ― UK  ― China

　問２　空所（　１　）に入れるのに最も適当なものはどれか。 36

①　attribute to

②　be attributing to

③　be attributed to

④　attribute to be

Tolerance perception
Percentage point change between 2007 and 2012

 Greece
 （ア）

Slovenia 
Austria 
（イ） 

Canada 
 France
 OECD average
 India
 （ウ）
 South Africa

（エ） 

 Greece
 （ア）

Slovenia 
Austria 
（イ） 

Canada 
 France
 OECD average
 India
 （ウ）
 South Africa

（エ） 
－30 －25 －20 －15 －10 －5 0 5 10 15 20
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出来ませんのでご了承願います。
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　問３　下線部⑵の文中における意味として最も適当なものはどれか。 37

①　インターネットによる利点

②　慈善活動

③　純益

④　営利目的

　問４　空所（　３　）に入れるのに最も適当なものはどれか。 38

①　with

②　because

③　of

④　while

　問５　下線部⑷を他の表現に置き換えるのに最も適当なものはどれか。 39

①　civil wars

②　economic difficulties

③　social disorder

④　financial aid

　問６　空所（　５　）に入れるのに最も適当なものはどれか。 40

①　In

②　Whereas

③　For

④　Since

　問７　空所（　６　）に入れるのに最も適当なものはどれか。 41

①　whose

②　what

③　which

④　who



― 15 ―― 14 ―

　問８　本文ならびにグラフの内容に合うものはどれか。 42

①�　2014年５月に行われた欧州議会選挙において、移民問題は大きな争点とはなら

なかった。

②�　2007年から2012年までの世界的な不況の間、OECD加盟諸国は進んで移民を受

け入れる風潮があった。

③�　2012年、約４割のギリシャ人が、自分が住む地域社会が移民にとって住みよい

場所であると考えていた。

④�　2012年、約17パーセントの中国人が、自分が暮らす地域は移民が定住するのに

適していると考えていた。








